Waves, Sound, & Light Name; Ry~ Block:
Practice Test ﬂ

For the questions below, please chose the single best answer:

1

If the patticles of the medium are vibrating to and fro in the same direction of energy transport, then the wave

1sa wave. <3 il

M
b. sound i
c. standing ?

Qe xele
d. transverse PM <

When the particles of 2 medium are vibrating at right angles to the direction of energy transport, then the wave
. e —
is a wave. _ o
a. longitudinal i

b. sound

c. standing ‘l P"*n les

A wave is moving through a coiled Slinky™. The time for a single coil to complete one full back and forth
vibration is known as the " e

a. speed a

c. amplitude

d. frequency

i

What is the amplitude of the wave in the diagram below?

A
b. 0.04 m

c. 0.05m
d. 0.08 m

The wavelength of the wave in the diagram above (Question 4)1s ___ m.
a. 0.030 X
b. 0.040
c. 0.060

Consider Diagram A and Diagram B below:

Compared to the wave in Diagram B, the wave in Diagram A has
a. the same amplitude by a larger wavelength
b. a larger amplitude and a smaller wavelength

c. a smaller amplitude and the same wavelength
Jthe same amplitude and a smaller wavelength>




7. A wave is traveling through a medium. For a point on the medium the number of vibration cycles per unit of

time is defined as the wave's ; CZGCL:
a. wavelength 7[1 £t
b. period

¢, amnlitade CLW s Ho)
A frequency )

8. A periodic and repeating disturbance in a lake creates waves that emanate outward from its source to produce
circular wave patterns. If the frequency of the source is 2.00 Hz and the wave speed is 5.00 m/s then the

distance between adjacent wave crests is ____ meter. 7[ ¥y
a. 0.200 t
b. 0.400 v=4A
¢ 1.25 ,
Smls: QHz) A
e. 10.0 =3 = A
‘77, =9 = @l
9. A wave has a speed of 0.80 m/s and a wavelength of 0.60 meters. What is its frequency?
a. 0.48 Hz v P Y &
b. 0.67 Hz 7[’
c. 0.75 Hz V=7 i
RO AR
10. A pendulum makes exactly 40 vibrations in 20.0 s. Its period is . (Be cautious of the units.)
a. 0.500 Hz. 3 " B
b. 0.500 5, s e | =i s s
c. 2.00 Hz. Cycle YO vibrakios
d. 2.00 s.

e. 8.00 x 10° Hz.

a. 20 T

11. A wave with a period of 0.0050 seconds would have a fﬂ;?icncy of Hz.
b. 50

(. 200> - L A 4
d. 500 7[\ v i —(- e WD He
e. 2000

12. Two pulses ate traveling in opposite directions along the same medium as
shown in the diagram at the right. Which diagram below best depicts the
appearance of the medium when each pulse meets in the middle?




13. The two pulses shown at the right are moving in opposite directions S ~R—
along the same medium. When they meet, interference will
occur.
a. Doppler K crech
b. tesonant GQes "L o

c. destructive SO Coastrec fve —

14. Which one of the following characteristics of a sound wave determines the pitch that observers hear?

S

a. The speed of the sound wave 7[\
¢. The amplitude of the sound wave
d. The distance of the sound wave from the source

15. Which characteristic of a wave contributes to the loudness of a sound?

a. The speed. ’A
b. The frequency.
c. The wavelength.
d. The amplitude
16. As two or more waves pass simultaneously through the same region, can occut.

a. refraction

b. diffraction 5.
see # 13 ¢ #I

d. reflection

17. Consider the standing wave pattern shown below.

A A A A A A

00,000,

11 12 meters :I

A wave generated at the left end of the medium undergoes reflection at the fixed end on the right side of the
medium. The number of antinodes in the diagram 1s ¢

a. 3.0 ;

%E—li L \A;Jkes+ WLM (MOQ& o € low a.».'gf-'h,iﬁfj

<. 0. A
d. 7.0 5“2 \}«[,_M
e. 12
18. The standing wave pattern in the diagram above is representative of the harmonic.

a. third oo i odes
b. fifth L2 = b+ {
d. seventh
e. twelfth
IJLIA.-“ = l

19. A stretched string vibrates with a fundamental frequency of 100 Hz. The frequency of the 2™ harmonic is ___.

a. 50.0 Hz ne L
b. 100. Hz ‘)[\ A~ g 2;
f Lo o

d. 400. Hz y hasone #

pot g ?Jﬁmmw”‘ﬂ"““



N
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20. A 30.5-cm long cylindrical pipe is filled with argon gas and closed off at one end. A 262-Hz tuning fork
causes it to resonate in its first harmonic. The speed of sound waves through argon gas is .

2.79.9 m/s - py=

b. 160. m/s n / ) M

d. 523 m/s = oo 4C 'U’) = 3(2.6Y
e. 1050 m/s 20.5¢ 2l =

» oS-

y (+30° )
21. A person will hear beats when listening to the sounds from two sources as long as those two sources produce
sound waves that

a. have the same amplitude ‘{/j - ( g - { 2 )
b. travel at the same speed et :
c. have identical frequencies /

(d have similar but slightly different frequencies>

e. have frequencies that are simple whole number ratios of each other

22. A 440—Ifz' tuning fork and a vibrating guitar string are observed to produce exactly 20 beats in 10.0 seconds—a
beat frequency of 2 Hz. The guitar string must be vibrating with a frequency of either Hz.

420 or 460
b 430 o 450 '?Bm*r QDBU.-:(- ) m =ifz {, = 134
-

c. 436 or 444 .
skl

23, Electromagnetic Waves make up light. Which order of the EM Spectrum cotrectly depicts EM waves increasing
: i
in frequency (and energy for that matter)?

— . . . - . -
Radio waves, infrared, visible, microwaves, ultraviolet, x-ray, gamma ray {, 70
b. Radio waves, microwaves, visible, infrared, ultraviolet, x-ray, gamma ray o A'U .%
¢. Radio waves, microwaves, infrared, visible, ultraviolet, x-ray, gamma ray Sr _\u,,_ HP"
d. Radio waves, infrared, microwaves, visible, ultraviolet, x-ray, gamma ray

Questions 24-26: The diagram at the right shows light reflecting off a surface. Three lines (X, Y and Z) and four
angles (A, B, C and D) are labeled. Use the diagram in answering the next several questions.

24. The incident ray is denoted by

A line X> %AAY el Toneech. 5% aeodudt X

b.lineY

c. line Z fo ”"’
25. The reflected ray is denoted by Y
a. line X " D“)IL 8 le {/orf‘ﬁ"(

b. line Y ooy Z"; v

< Cline 7> z

26. The normal line is denoted by ____
alineX

CHIneY> " mowts pwpmi‘cwtv/

c. line Z



27. Consider the diagram at the right showing a light ray reflecting off a plane mirror.

If angle B were 40°, then the angle of reflection would be o

Bofl, iecdudt € reflected MZ,/L; e

b. 50 Mecgied Do He' aormed —7
c. Impossible to tell with just this information. Like 4

28. What is the cause of refraction?
a. The speeding up of a light wave.
b. The slowing down of a light wave.

@E&Hﬁ@?m speed of a light wave. D 3 [,egt— s b/c wawe  could SpeeJ wy of clow dowr

29. When a light ray passes from one material into a more optically dense material where it travels slower, the light
ray will bend . PP H relatbashp

a. toward the normal ling>

b. away from the normal line
c. in whichever direction it feels like

30. Consider the diagram at the right for the refraction of light at the boundary

between matetial A and material B. The light is traveling fastest in el :
4. ma 12 £) = l nﬂ 5[ Matel:ial B :
b. material B Jowwd Aofmal ¢ °— Lok ' ‘D
c. Impossible to tell with this information. - ;\onw..[ S TS Jashe! 8
31. A student is conducting an experiment to measure the speed of sound in the laboratory air. If it’s a particularly
warm day, which might they correctly suspect would be truer
a. The speed of sound will be slower than typical )r}'_ \or 4@«[95 e o lususles ol J

('b.  The speed of sound will be faster than typica 3)‘*3“(“1 .ﬁyht, g( S0 i e (ess
c. The speed of sound doesn’t depend of the temperature L by Mo Aok MO

3. A basketball referee uses their whistle to stop play. Does any of the air that the referee blows through the
whistle travel and enter the ears of the basketball players as they hear the whistle? [
a. Yes, that’s why they can hear the whistle. s 0 )
¢ b. No, the sound wave only transfers vibrations and energy, not magey CDJ(\:U“" L 7
c. Yes, and it’s gross.
d. No, the wave causes the floor to vibrate and this is how the players hear the sound.

33. Given the known speed of light, imagine a 4.25 x 10" Hz light wave heading from the Sun to Earth. Calculate

this wave’s tiny wavelength. C F ‘
a. 7.06 x 107 g_Jk N‘:S-OOKtogu/; ry"‘:-pﬂ I"f)
" - p)
b. 8075 107 m 3.00x(03 = [.25x% 0
. 1.275x 10%m o _ 3
d. 142 x 10°m Ao BEE o 3 oSEEVIO T

Y 5€e“

34. A guitar string is supposed to vibrate at 384 Hz, but is(too tioht (therefore too high pitche
beat frequency of 3.00 Hz when plucked with a 384 Hz tuning fork. With what frequency is t

2. 381 Hz "FD 'Fl —ﬁ B _p .CL ]
c. 128 Hz Beat ) ‘
d. not enough information to determine 3.00lz = l 39 Y - ‘F‘L ’

,Cl _ 2391 o 39F HZ

and 1s producing a
string vibrating?




35. In an attempt to make a musical instrument with a pipe closed at one end, you need to calculate the length of a
such a pipe so that you get a fundamental frequency of 512 Hz. How long should you make the pipe?

a. 1.34m =l Fesizmae T v, = 343
b. 0.670 m -P: NV~ Sowd T afy
c. 0.335 m ¥L.

@ Bl = g(3q3)

Y (L_)

36. Determine the period of the wave depicted in the graph.

¥ (m) T2 $onee for o-uLcYc(G
1 L= 1690) (943
4(510)
DAL u/o(c:
T T T T T !(S} MX—'F _’,
W 02 w 0.4 \o.s ) st o C*‘:lrr i
'?/) towy W o axt Hog
<A 5 3) D,.:ﬁc,m.xﬂe/{?, crest { one Compleke *”“J'J"*

a. 0.10s

c. 025s

d. 030s

37. Determine the frequency of the wave depicted in number 36.

a. 10 Hz _C & C‘ tbte} _
e 40 Hz Ldos t

d. 20 H = 1z ¢ /L : SH

38. The length of the string in each of the following 3 cases 1s 3.0 meters. What is the wavelength of the standing

wave in each case?

R == = —>
3.cn
‘ e g a | %
/ﬁ\ - jpcw each anbads s wmwk 'Lk wanelesgr-

b o b 3o So Huwo el N}LMD(.C; 5 & comf

e T s T
E::%I e Jl._j2 2 4.0m
é —

a. The same wavelength in a, b, and ¢, namely 3.0 m
b. The only one with a wavelength is b, namely 3.0 m

c. The wavelengthin ais 3.0 m,inbis 1.5mandincis 1.0 m
" The wavelength in ais 6.0 m, in bis 3.0 m and in ¢ 1s 2.0 9
39. The speed of a sound wave in water is about 1500 m /s. If the wavelength of a particular sound is 0.250 m, what

is thegperiodof the sound wave? v — '—_j—'
A AT

b. 6000 s .

s Sabinl & 2EOE
c. 1.67 x 10* Hz - PR s s
d. 6000 Hz TRt o] L.’S
w G&M B 1599



